
https://www.pass2lead.com/1z0-900.html
2024 Latest pass2lead 1Z0-900 PDF and VCE dumps Download

 

 

 

1Z0-900Q&As

Java EE 7 Application Developer

Pass Oracle 1Z0-900 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/1z0-900.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-900 PDF Dumps | 1Z0-900 Practice Test | 1Z0-900 Study Guide                                1 / 3

https://www.pass2lead.com/1z0-900.html
https://www.pass2lead.com/1z0-900.html
https://www.pass2lead.com/1z0-900.html


https://www.pass2lead.com/1z0-900.html
2024 Latest pass2lead 1Z0-900 PDF and VCE dumps Download

QUESTION 1

Your customer has a complex financial reporting structure. 

Which three elements should you define first in order to form a basis for this reporting? 

A. Tax, Legal, and Industry 

B. Managerial, Operational, and Industry 

C. Legal, Managerial, and Functional 

D. Legal, Autonomy, and Operational 

Correct Answer: C 

 

QUESTION 2

You have a high value item that you want to audit on an unscheduled basis to deter pilfering. 

Which method would you use to do this? 

A. ABC Count 

B. Physical Inventory Count 

C. Automated Cycle Count 

D. Manual Cycle Count 

E. Blind Inventory Count 

Correct Answer: D 

 

QUESTION 3

Which of these can be a JPA entity? 

A. Enum type 

B. Abstract class 

C. Interface type 

D. Final class 

Correct Answer: A 

 

QUESTION 4
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The physical inventory process is carried out for a particular inventory organization with the following parameters: 

Negative quantity Tolerance Percentage is set to 10% Approval Type = `Always\\' 

The system says that there are 100 on band, but you only counted 95. What will happen? 

A. The setup is invalid; it will give an error message. 

B. Because the 95 is within the 10% tolerance, it will post without approval. 

C. The system will ask a user to recount before posting. 

D. An approval will be required before posting. 

Correct Answer: B 

 

 

QUESTION 5

Which two approaches would result in the current date being added to the output of a JSP? (Choose two.) 

A.  

B.  

C.  

D.  

Correct Answer: AC 

Reference: http://www.ntu.edu.sg/home/ehchua/programming/java/javaserverpages.html 
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